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1. Critically explain the classical theory of Income and Employment with help of J.B.
Say’s law and Pigou’s wage cut theory. 14

OR
Write notes on :
(a) Determinants of Investment
(b) Marginal efficiency of capital

2. Examine the Keynsian theory of Income and Employment in two sectors. 14
OR
Write notes on :
(a) Investment Multiplier
(b) Accelerator theory of Investment

3. Write notes : (any two) 14
(a) Fundamental Psychological law of consumption
(b) Relative income hypothesis
(c) Life cycle hypothesis
(d) Permanent income hypothesis

4. Derive the IS and LM curves and state the conditions of macro-economic stability. 14
OR

Discuss the relative effectiveness of Monetary and Fiscal policies with help of IS-LM
model.

5. Select correct answers of the following : 14
(1) “Supply creates its own Demand” is given by _____
(a) J.B. Say (b) J.S.Mill
(c) Marshall (d) A.C. Pigou
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(2) Alfred Marshall is known as .
(a) Classical economist (b) Neo-classical economist

(¢) Modern economist (d) None of these
3) “Wage-Cut theory” theory.
(a) Classical (b) Neo-classical
(¢) Modern (d) Universal
(4) Where IS = LM, stability established.
(a) Internal (b) Factor market
(¢)  Real market (d) External
(5) Keynsian theory of Income and Employment published in the year
(a) 1929 (b) 1933
(c) 1936 (d) 1939

(6) Keynsian theory of Income and Employment is
(a)  Supply sided theory
(b) Demand sided theory
(c)  Rational expectation theory
(d) Classical theory

(7) Where Dm = Sm, determines.
(a) Income (b) MEC
(c) Rate of Interest (d) ADP
(8) In Keynsian model MPC is .
(a) one (b) zero
(c) constant (d) negative
(9) ASP curve is angled curve.
(a) 90° (b) 180°
(c) 360° (d) 45°
(10) Rational expectation hypothesis propounded by ___
(a) J.B. Say (b) Keynes
(¢) Lucas (d) Samuelson
(11) IS — LM model explained by .
(a) Marshall-Hicks (b) Hick-Harrod
(c)  Hicks-Samuelson (d) Hicks-Hansson
(12) Life Cycle Hypothesis given by .
(a) Keynes (b) Samuelson
(c)  Fisher (d) None of these
(13) In consumption function ¢ = a + by, b stands for
(@) APS (b) APC
(c) MPS (d) MPC
(14) Investment function depends on .
(a) Income (b) Rate of interest
(¢) Income and interest (d) All of these
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